SOCKET HEAD CAP SCREW

SOCKET HEAD CAP SCREW

PLAIN FINISH-GLOBAL

(cont.)

T PN
| § O
N

PLAIN FINISH-GLOBAL []:E 74 t; Part number Description Pack
LAY )

: N |;MRs04040 1/4-28 X 1 1/4 100
Part number Description Pack|] |JMRS04048 1/4-28 X 1 1/2 100
JMRSS16096 1-12X3 5| |uMRs04056 1/4-28 X 1 3/4 100
JMRS03006 10/32 X 3/16 100[ |JMRS04064 1/4-28 X 2 100
JMRS03008 10/32 X 1/4 100[ [JMRs04072 1/4-28 X 2 1/4 100
JMRS03010 10/32 X 5/16 100[ |IMRs04080 1/4-28 X 2 112 50
JUMRS03012 10/32 X 3/8 100[ |JMRs04096 1/4-28 X 3 50
JMRS03016 10/32 X 1/2 100[ |JMRS04144 1/4-28 X 4 172 50
JMRS03020 10/32 X 5/8 100[ |JMRS05016 5/16-24 X 1/2 100
JUMRS03024 10/32 X 3/4 100[ |IMRS05020 5/16-24 X 5/8 100
JMRS03028 10/32 X 7/8 100[ |JMRs05024 5/16-24 X 3/4 100
JMRS03032 10/32 X 1 100[ |JMRS05028 5/16-24 X 7/8 100
JMRS03040 10/32 X 1 1/4 100[ |JMRS05032 5/16-24 X 1 100
JMRS03044 10/32 X 1 3/8 100[ |IMRS05040 5/16-24 X 1 1/4 100
JMRS03048 10/32 X 1 1/2 100[ |IMRs05048 5/16-24 X 1 1/2 100
JMRS03056 10/32 X 1 3/4 100[ |JMRS05056 5/16-24 X 1 3/4 100
JMRS03064 10/32 X 2 100[ |JMRS05064 5/16-24 X 2 100
JMRS04008 1/4-28 X 1/4 100[ |IMRs05072 5/16-24 X 2 1/4 50
UMRS04012 1/4-28 X 3/8 100[ |JMRs05080 5/16-24 X 2 1/2 50
JMRS04016 1/4-28 X 112 100[ |JMRs05096 5/16-24 X 3 50
UMRS04020 1/4-28 X 518 100 [JMRs05112 5/16-24 X 3 1/2 50
JUMRS04024 1/4-28 X 3/4 100[ |JMRS05128 5/16-24 X 4 50
JMRS04028 1/4-28 X 718 100[ |JMRs06016 3/8-24 X 1/2 100
JUMRS04032 1/4-28 X 1 100| |IMRS06020 3/8-24 X 5/8 100
SOCKET HEAD CAP SCREW UMRS06024 3/8-24 X 3/4 100
PLAIN FINISH-GLOBAL E]:E ()  pmrsosozs 3/8-24 X 7/8 100
(cont.) : N/ IMRS06032 3/8-24 X 1 100
Part number Description Pack| |JMRS06040 3/8-24 X 1 1/4 100
JMRS07048 7/16-20 X 1 172 50| |UMRs06048 3/8-24 X 1112 100
JMRS07056 7/16-20 X 1 3/4 50| [JMRs06056 3/8-24 X 13/4 50
JMRS07064 7/16-20 X 2 50| [JMRs06064 3/8-24 X 2 50
JMRS08024 1/2-20 X 3/4 50| |UMRs06072 3/8-24 X 2 1/4 50
JUMRS08032 1/2-20 X 1 50| |UMRs06080 3/8-24 X 2 112 50
UMRS08040 1/2-20 X 1 1/4 50| [JMRso6088 3/8-24 X 2 3/4 50
JMRS08048 1/2-20 X 1 112 50| [JMRs06096 3/8-24 X 3 50
JMRS08056 1/2-20 X 1 3/4 s50[ |UMRs06112 3/8-24 X 3 112 25
JMRS08064 1/2-20 X 2 50| |[JMRs06128 3/8-24 X 4 25
JMRS08072 1/2-20 X 2 1/4 25| |IMRs06144 3/8-24 X 4 112 25
JMRS08080 1/2:20 X 2 1/2 25| |UMRs06160 3/8-24 X 5 25
JMRS08088 1/2-20 X 2 3/4 25| |UMRs06192 3/8-24 X 6 25
JMRS08096 1/2-20 X 3 25| |UMRs07016 7/16-20 X 112 50
JMRS08112X 1/2-20 X 3 112 25| |UMRs07032 7/16-20 X 1 50
JMRS08128X 1/2-20 X 4 25| |uMRs07040 7/16-20 X 1 1/4 50
JUMRS08144 1/2-20 X 4 1/2 25|  SOCKET HEAD CAP SCREW




JMRS08160 1/2-20 X 5 25|  PLAIN FINISH-GLOBAL J:]:E ':f “13.]
JMRS08192 1/2-20 X 6 25| (cont.) e
JMRS10032 5/8-18 X 1 25| |Part number Description Pack|
JMRS10040 5/8-18 X 1 1/4 25| |JMRS12128X 3/4-16 X 4 25
JMRS10048 5/8-18 X 1 1/2 25| |JMRS12144X 3/4-16 X 4 1/2 25
JMRS10056 5/8-18 X 1 3/4 25| |JMRS12160X 3/4-16 X 5 10
JMRS10064 5/8-18 X 2 25| |JMRS12192X 3/4-16 X 6 10
JMRS10072X 5/8-18 X 2 1/4 25| |JMRS14056 7/8-14 X 1 3/4 10
JMRS10080 5/8-18 X 2 1/2 25| |JMRS14064X 7/8-14 X 2 10
JMRS10088X 5/8-18 X 2 3/4 25| |JMRS14080X 7/8-14 X2 1/2 10
JMRS10096X 5/8-18 X 3 25| |JMRS14096X 7/8-14 X 3 10
JMRS10104X 5/8-18 X 3 1/4 25| |JMRS14112X 7/8-14 X 3 1/2 10
JMRS10112X 5/8-18 X 3 1/2 25| |JMRS14128X 7/8-14 X 4 10
JMRS10128X 5/8-18 X 4 25| |JMRS16064X 1-14 X 2 5
JMRS10144 5/8-18 X 4 1/2 25| |JMRS16072X 1-14 X2 1/4 5
JMRS10160 5/8-18 X 5 25| |JMRS16080X 1-14 X2 1/2 5
JMRS10176 5/8-18 X 5 1/2 25| |JMRS16088X 1-14 X 2 3/4 5
JMRS10192 5/8-18 X 6 25| |JMRS16096X 1-14 X 3 5
JMRS12032 3/4-16 X 1 25| |JMRS16104X 1-14 X 31/4 5
JMRS12048X 3/4-16 X 1 1/2 25| |JMRS16112X 1-14 X 3 1/2 5
JMRS12056X 3/4-16 X 1 3/4 25| |JMRS16128X 1-14 X 4 5
JMRS12064X 3/4-16 X 2 25| |JMRS16144X 1-14 X 4 1/2 5
JMRS12072X 3/4-16 X 2 1/4 25| |JMRS16160X 1-14 X 5 5
JMRS12080X 3/4-16 X 2 1/2 25| |JMRS16176 1-14 X 51/2 5
JMRS12088X 3/4-16 X 2 3/4 25| |JMRS16192X 1-14 X 6 5
JMRS12096X 3/4-16 X 3 25| |JMRS20160 11/4-12X 5 1
JMRS12112X 3/4-16 X 3 1/2 25| |JMRS44008 4/48 X 1/4 100
SOCKET HEAD CAP SCREW JMRS44016 4/48 X 1/2 100
PLAIN FINISH-GLOBAL |:]:§ |:f-_§'f: JMRS66008 6/40 X 1/4 100
(cont.) e JMRS66012 6/40 X 3/8 100
Part number Description Pack| |JMRS66016 6/40 X 1/2 100
JMR03028 10/24 X 7/8 100] |JMRS66024 6/40 X 3/4 100
JMR03032 10/24 X 1 100] |JMRS66032 6/40 X 1 100
JMR03040 10/24 X 1 1/4 100] |JMRS88008X 8/36 X 1/4 100
JMR03048 10/24 X 1 1/2 100] |JMRS88020 8/36 X 5/8 100
JMR03056 10/24 X 1 3/4 100] |JMRS88028 8/36 X 7/8 100
JMR03064 10/24 X 2 100] |JMRS88032 8/36 X 1 100
JMR03080 10/24 X 2 1/2 100 |JMRS88040 8/36 X 1 1/4 100
JMR03088 10/24 X 2 3/4 100] |JMRS88048 8/36 X 1 1/2 100
JMR03096 10-24 X 3 100] |JMRS88064 8/36 X 2 100
JMR03112 10-24 X 3 1/2 100 |JMR00008 0/80 X 1/4 100
JMR03120 10/24 X 3 3/4 50| |JMR03008 10/24 X 1/4 100
JMR03128 10/24 X 4 50 |JMRO03012 10/24 X 3/8 100
JMR03144 10/24 X 4 1/2 50 |JMRO03016 10/24 X 1/2 100
JMR04008 1/4-20 X 1/4 100 |JMR03020 10/24 X 5/8 100
JMR04012 1/4-20 X 3/8 100] |JMR03024 10/24 X 3/4 100
JMR04016 1/4-20 X 1/2 100] SOCKET HEAD CAP SCREW

JMR04020 1/4-20 X 5/8 100]  PLAIN FINISH-GLOBAL T B 7N



JMR04024 1/4-20 X 3/4 100|  (cont.) s S I — NS
JMR04028 1/4-20 X 7/8 100 Part number Description Pack
JMR04032 1/4-20 X 1 100] |UMR05024 5/16-18 X 3/4 100
UMR04036 1/4-20 X 1 1/8 100] |JMR05028 5/16-18 X 7/8 100
JMR04040 1/4-20 X 1 1/4 100] |UMR05032 5/16-18 X 1 100
JMR04048 1/4-20 X 1 1/2 100] |JMR05036 5/16-18 X 1 1/8 100
JMR04048 1/4-20X1 1/2 100| |JMR05040 5/16-18 X 1 1/4 100
JMR04052 1/4-20 X 1 5/8 100] |JMR05048 5/16-18 X 1 1/2 100
JMR04056 1/4-20 X 1 3/4 100] |UMR05056 5/16-18 X 1 3/4 100
UMR04064 1/4-20 X 2 100] |UMR05064 5/16-18 X 2 100
UMR04064 1/4-20 X 2 100| |JMR05072 5/16-18 X 2 1/4 50
JMR04072 1/4-20 X 2 1/4 100] |UMR05080 5/16-18 X 2 1/2 50
JMR04080 1/4-20 X 2 1/2 50 |JMR05088 5/16-18 X 2 3/4 50
JMR04080 1/4-20 X 2 1/2 50 |JMR05096 5/16-18 X 3 50
JMR04088 1/4-20 X 2 3/4 50| |JMRO5104 5/16-18 X 3 1/4 50
JMR04096 1/4-20 X 3 50 |JMR05104BM 5/16-18 X 3 1/4 500
JMR04104 1/4-20 X 3 1/4 50 |JMR05112 5/16-18 X 3 1/2 50
JMR04112 1/4-20 X 3 1/2 50 |JMR05120 5/16-18 X 3 3/4 50
JMR04120 1/4-20 X 3 3/4 50| |JMRO5128 5/16-18 X 4 50
JMR04128 1/4-20 X 4 50 |JMR05144 5/16-18 X 4 1/2 50
JMR04160 1/4-20 X 5 50 |JMR05160 5/16-18 X 5 50
JMR04176 1/4-20 X 5 1/2 50 |JMR05176 5/16-18 X 5 1/2 25
JMR04192 1/4-20 X 6 25| lumRo5192 5/16-18 X 6 25
JMR05012 5/16-18 X 3/8 100] |UMR06012 3/8-16 X 3/8 100
UMR05016 5/16-18 X 1/2 100] |JMR06016 3/8-16 X 1/2 100
JMR05020 5/16-18 X 5/8 100] |UMR06020 3/8-16 X 5/8 100
SOCKET HEAD CAP SCREW UMR06024 3/8-16 X 3/4 100
PLAIN FINISH-GLOBAL i 72 |JMRoe028 3/8-16 X 7/8 100
(cont.) []:E IS:J JMR06032 3/8-16 X 1 100
Part number Description Pack| |JMR06040 3/8-16 X 1 1/4 100
JMR06160 3/8-16 X 5 25| |JMR06044 3/8-16 X 1 3/8 100
UMR06176 3/8-16 X 5 1/2 25| |JMR06048 3/8-16 X 1 1/2 100
JMR06192 3/8-16 X 6 25| |JMR06056 3/8-16 X 1 3/4 50
JMR06224 3/8-16 X 7 25| |JMR06064 3/8-16 X 2 50
JMR06256 3/8-16 X 8 25| |JMR06064 3/8-16 X 2 25
UMR07016 7/16-14 X 1/2 25| |umRos072 3/8-16 X 2 1/4 50
UMR07024 7/16-14 X 3/4 100] |JMR06080 3/8-16 X 2 1/2 50
JMR07028 7/16-14 X 7/8 100] |JMR06088 3/8-16 X 2 3/4 50
JMR07032 7/16-14 X 1 50 |JMR06096 3/8-16 X 3 50
JMR07040 7/16-14 X 1 1/4 50| |umRo6104 3/8-16 X 3 1/4 50
UMR07044 7/16-14 X 1 3/8 50 |JMR06112 3/8-16 X 3 1/2 25
JMR07048 7/16-14 X 1 1/2 50| |JMR06120 3/8-16 X 3 3/4 25
JMR07056 7/16-14 X 1 3/4 50 |JMR06128 3/8-16 X 4 25
UMR07064 7/16-14 X 2 50 |JMR06136 3/8-16 X 4 1/4 25
JMR07072 7/16-14 X 2 1/4 50 |JMR06144 3/8-16 X 4 1/2 25
JMR07080 7/16-14 X 2 1/2 25| SOCKET HEAD CAP SCREW

JMR07088 7/16-14 X 2 3/4 25| PLAIN FINISH-GLOBAL 'Y V/amN
UMR07096 7/16-14 X 3 250 (cont,) J:I:E I"i_ /)




JMR07112 7/16-14 X 3 1/2 25| |Part number Description Pack
JMR07128 7/16-14 X 4 25| |JMR08224 1/2-13 X 7 25
JMR07144 7/16-14 X 4 1/2 25| |JMR08240 1/2-13 X7 1/2 10
JMR07192 7/16-14 X 6 25| |JMR08256 1/2-13 X 8 25
JMR08016 1/2-13 X 1/2 50 |[JMR08272 1/2-13 X 8 1/2 10
JMR08024X 1/2-13 X 3/4 50 [JMR08288 1/2-13 X9 10
JMR08028 1/2-13 X 7/8 50| |JMR09096 9/16-12 X 3 25
JMR08032 1/2-13 X 1 50 |JMR09128 9/16-12 X 4 25
JMR08040 1/2-13 X 1 1/4 50 [JMR09160 9/16-12 X 5 25
JMR08048 1/2-13 X 1 1/2 50 [JMR10024 5/8-11 X 3/4 25
JMR08056 1/2-13 X 1 3/4 50 [JMR10032 5/8-11 X 1 25
JMR08064 1/2-13 X 2 50 |JMR10040 5/8-11 X 1 1/4 25
JMR08072 1/2-13 X 2 1/4 25| |JMR10048 5/8-11 X 1 1/2 25
JMR08080 1/2-13 X2 1/2 25| |JMR10056 5/8-11 X 1 3/4 25
JMR08088 1/2-13 X 2 3/4 25| |JMR10064 5/8-11 X 2 25
JMR08096 1/2-13 X 3 25| |JMR10072 5/8-11 X 2 1/4 25
JMR08104 1/2-13 X 3 1/4 25| |JMR10080 5/8-11 X 2 1/2 25
JMR08112 1/2-13 X 3 1/2 25| |JMR10088 5/8-11 X 2 3/4 25
JMR08120 1/2-13 X 3 3/4 25| |JMR10096 5/8-11 X 3 25
JMR08128 1/2-13 X 4 25 |JMR10104 5/8-11 X 3 1/4 25
JMR08144 1/2-13 X 4 1/2 25| |JMR10112 5/8-11 X 3 1/2 25
JMR08160 1/2-13 X 5 25| |JMR10128 5/8-11 X 4 25
JMR08176 1/2-13 X5 1/2 25| |JMR10136 5/8-11 X 4 1/4 25
JMR08192 1/2-13 X 6 25| |JMR10144 5/8-11 X 4 1/2 25
JMR08208 1/2-13 X 6 1/2 25| |JMR10160 5/8-11 X 5 25
SOCKET HEAD CAP SCREW JMR10176 5/8-11 X 51/2 25
PLAIN FINISH-GLOBAL ill -/“'-_-“\\-. JMR10192 5/8-11 X 6 25
(cont.) []:é Ii\xté JMR10208 5/8-11 X 6 1/2 10
Part number Description Pack| |JMR10224 5/8-11 X 7 10
JMR12144 3/4-10 X 4 1/2 25| |[JMR10256 5/8-11 X 8 10
JMR12152 3/4-10 X 4 3/4 25| |[JMR10352 5/8-11 X 11 10
JMR12160 3/4-10 X 5 10] |JMR10384 5/8-11 X 12 10
JMR12176 3/4-10 X 5 1/2 10] |[JMR12040 3/4-10 X 1 1/4 25
JMR12192 3/4-10 X 6 10] |[JMR12048 3/4-10 X 1 1/2 25
JMR12208 3/4-10 X 6 1/2 10] |JMR12056 3/4-10 X 1 3/4 25
JMR12224 3/4-10 X 7 10] |JMR12064 3/4-10 X 2 25
JMR12256 3/4-10 X 8 10] |[WMR12072 3/4-10 X 2 1/4 25
JMR12304 3/4-10 X 9 1/2 10| |[JMR12080 3/4-10 X 2 1/2 25
JMR14064 7/8-9 X 2 10] |JMR12088 3/4-10 X 2 3/4 25
JMR14072 7/8-9 X2 1/4 10] |[JMR12096 3/4-10 X 3 25
JMR14080 7/8-9 X 21/2 10| |JMR12104 3/4-10 X 3 1/4 25
JMR14088 7/8-9 X 2 3/4 10] [WMR12112 3/4-10 X 3 1/2 25
JMR14096 7/8-9 X 3 10| |[YMR12120 3/4-10 X 3 3/4 25
JMR14104 7/8-9 X 31/4 10| |JMR12128 3/4-10 X 4 25
JMR14112 7/8-9 X 31/2 10| SOCKET HEAD CAP SCREW

JMR14128 7/8-9 X 4 10]  PLAIN FINISH-GLOBAL 'l .-/f'__ﬁ\?‘-.,

JMR14144 7/8-9 X4 1/2 10|  (cont.) ' Ii&'—fi

JMR14160 7/8-9 X 5 10 |Part number Description | Packl




JMR14176 7/8-9 X 51/2 10] |JMR18096 11/8-7 X3 10
JMR14192 7/8-9 X 6 10] |JMR20192 11/4-7 X 6 1
JMR14208 7/8-9 X6 1/2 10] |JMR20224 11/4-7 X7 1
JMR14224 7/8-9 X7 10] |JMR20288 11/4-7 X9 1
JMR14256 7/8-9 X 8 10] |YMR21012 12/24 X 3/8 100
JMR14288 7/8-9 X 9 10] |JMR21032 12/24 X 1 100
JMR16064 1-8 X 2 10] |JMR21048 12/24 X 1 1/2 100
JMR16072 1-8 X2 1/4 10] |JMR22006 2/56 X 3/16 100
JMR16080 1-8 X 21/2 10] |JMR22008 2/56 X 1/4 100
JMR16088 1-8 X 2 3/4 10] |[JMR22012 2/56 X 3/8 100
JMR16096 1-8 X 3 10] |JMR22016 2/56 X 1/2 100
JMR16104 1-8 X 3 1/4 10] |JMR24096 11/2-6 X3 1
JMR16112 1-8 X 3 1/2 10] |JMR24144 11/2-6 X4 1/2 1
JMR16128 1-8 X 4 10] |JMR24176 11/2-6 X51/2 5
JMR16144 1-8 X4 1/2 10] |JMR24256 11/2-6 X8 1
JMR16160 1-8 X 5 10] |JMR24384 11/2-6 X 12 1
JMR16176 1-8 X 51/2 10] |JMR33006 3/48 X 3/16 100
JMR16192 1-8 X 6 10] |JMR33008 3/48 X 1/4 100
JMR16208 1-8 X6 1/2 10] |JMR33012 3/48 X 3/8 100
JMR16224 1-8 X 7 10] |JMR33016 3/48 X 1/2 100
JMR16240 1-8 X7 1/2 10] |JMR44004 4/40 X 1/8 100
JMR16256 1-8 X 8 10] |JMR44006 4/40 X 3/16 100
JMR16384 1-8 X 12 1 JMR44008 4/40 X 1/4 100
JMR16448 1-8 X 14 1 JMR44010 4/40 X 5/16 100
SOCKET HEAD CAP SCREW JMR44012 4/40 X 3/8 100
PLAIN FINISH-GLOBAL E]:E I:f'_“‘}: JUMR44016 4140 X 1/2 100
(cont.) N JMR44020 4/40 X 5/8 100
Part number Description Pack] [|JMR44024 4/40 X 3/4 100
JMR66032 6/32 X 1 100] [JMR44032 4/40 X 1 100
JMR66040 6/32 X 1 1/4 100] [JMR44040 4/40 X 1 1/4 100
JMR66048 6/32 X 11/2 100 |JMR55008 5/40 X 1/4 100
JMR66056 6/32 X 1 3/4 100] [JMR55012 5/40 X 3/8 100
JMR66064 6/32 X 2 100] [JMR55016 5/40 X 1/2 100
JMR66072 6/32 X 2 1/4 100] [JMR55020 5/40 X 5/8 100
JMR66080 6/32 X2 1/2 100] [JMR55024 5/40 X 3/4 100
JMR66096 6/32 X 3 100] [JMR55028 5/40 X 7/8 100
JMR88006 8/32 X 3/16 100] [JMR55032 5/40 X 1 100
JMR88008 8/32 X 1/4 100] [JMR66008 6/32 X 1/4 100
JMR88012 8/32 X 3/8 100] [JMR66012 6/32 X 3/8 100
JMR88016 8/32 X 1/2 100] [JMR66016 6/32 X 1/2 100
JMR88020 8/32 X 5/8 100 |JMR66020 6/32 X 5/8 100
JMR88024 8/32 X 3/4 100] [JMR66024 6/32 X 3/4 100
JMR88028 8/32 X 7/8 100 |JMR66028 6/32 X 7/8 100
JMR88032 8/32 X 1 100] SOCKET SET SCREW-CUP POINT _'/j/
JMR88040 8/32 X 11/4 100 PLAIN FINISH-GLOBAL

JMR88048 8/32 X 11/2 100] (cont.)

JMR88056 8/32 X 1 3/4 100] [Part number Description Pack|
JMR88064 8/32 X 2 100] |JNRS04012 1/4-28 X 3/8 100




JMR88096 8/32 X 3 100| JNRS04016 1/4-28 X 1/2 100
JNRS04020 1/4-28 X 5/8 100
o JNRS04024 1/4-28 X 3/4 100
SOCKET SET SCREW-CUP POINT _F'/’J/ JNRS04032 1/4-28 X 1 100
PLAIN FINISH-GLOBAL JNRS04040 1/4-28 X 1 1/4 100
JNRS05008 5/16-24 X 1/4 100
Part number Description Pack] |JNRS05010 5/16-24 X 5/16 100
JNRS03004 10/32 X 1/8 100] |JNRS05012 5/16-24 X 3/8 100
JNRS03006 10/32 X 3/16 100] |JNRS05016 5/16-24 X 1/2 100
JNRS03008 10/32 X 1/4 100] |JNRS05020 5/16-24 X 5/8 100
JNRS03010 10/32 X 5/16 100 |JNRS05024 5/16-24 X 3/4 100
JNRS03012 10/32 X 3/8 100] |JNRS05032 5/16-24 X 1 100
JNRS03014 10/32 X 7/16 100] |JNRS05040 5/16-24 X 1 1/4 100
JNRS03016 10/32 X 1/2 100] |JNRS05048 5/16-24 X 1 1/2 100
JNRS03020 10/32 X 5/8 100 |JNRS06008 3/8-24 X 1/4 100
JNRS03024 10/32 X 3/4 100] |JNRS06010 3/8-24 X 5/16 100,
JNRS03028 10/32 X 7/8 100] |JNRS06012 3/8-24 X 3/8 100
JNRS03032 10/32 X 1 100] |JNRS06014 3/8-24 X 7/16 100
JNRS03040 10/32 X 1 1/4 100] |JNRS06016 3/8-24 X 1/2 100
JNRS03048 10/32 X 1 1/2 100] |JNRS06020 3/8-24 X 5/8 100
JNRS04006 1/4-28 X 3/16 100] |JNRS06024 3/8-24 X 3/4 100
JNRS04008 1/4-28 X 1/4 100] |JNRS06032 3/8-24 X 1 100
JNRS04010 1/4-28 X 5/16 100] |JNRS06040 3/8-24 X 1 1/4 100
SOCKET SET SCREW-CUP POINT _—'/j‘/ JNRS06048 3/8-24 X 1 1/2 100
PLAIN FINISH-GLOBAL JNRS06064 3/8-24 X 2 100
(cont.) JNRS06080 3/8-24 X 2 1/2 50
Part number Description Pack| |JNRS07012 7/16-20 X 3/8 100
JNRS10064 5/8-18 X 2 25| |JNRS07014 7/16-20 X 7/16 100
JNRS12016 3/4-16 X 1/2 50| |JNRS07016 7/16-20 X 1/2 100
JNRS12024 3/4-16 X 3/4 50 |JNRS07064 7/16-20 X 2 50
JNRS14032 7/8-14 X 1 25| |JNRS08012 1/2-20 X 3/8 100
JNRS66004 6/40 X 1/8 100 |JNRS08016 1/2-20 X 1/2 100
JNRS66008 6/40 X 1/4 100] |JNRS08020 1/2-20 X 5/8 100
JNRS66010 6/40 X 5/16 100] |JNRS08024 1/2-20 X 3/4 100
JNRS66012 6/40 X 3/8 100] |JNRS08032 1/2-20 X 1 50
JNRS88004 8/36 X 1/8 100] |JNRS08048 1/2-20 X 1 1/2 50
JNRS88006 8/36 X 3/16 100 |JNRS08080 1/2-20 X 2 1/2 50
JNRS88008 8/36 X 1/4 100 |JNRS10016 5/8-18 X 1/2 50
JNRS88010 8/36 X 5/16 100] |JNRS10020 5/8-18 X 5/8 50
JNRS88012 8/36 X 3/8 100 |JNRS10024 5/8-18 X 3/4 50
JNRS88016 8/36 X 1/2 100] |JNRS10032 5/8-18 X 1 50
JNR03004 10/24 X 1/8 100 |JNRS10040X 5/8-18 X 1 1/4 25
JNR03006 10/24 X 3/16 100] SOCKET SET SCREW-CUP POINT _—'/J)
JNR03008 10/24 X 1/4 100] PLAIN FINISH-GLOBAL
JNR03010 10/24 X 5/16 100] (cont.)
JNR03012 10/24 X 3/8 100 Part number Description Pack
JNR03014 10/24 X 7/16 100] |JNR05008 5/16-18 X 1/4 100
JNR03016 10/24 X 1/2 100] |JNR05010 5/16-18 X 5/16 100




JNR03020 10/24 X 5/8 100] |JNR05012 5/16-18 X 3/8 100
JNR03024 10/24 X 3/4 100 |JNR05014 5/16-18 X 7/16 100
JNR03028 10/24 X 7/8 100] |JNRO05016 5/16-18 X 1/2 100
JNR03032 10/24 X 1 100] |JNR05020 5/16-18 X 5/8 100
JNR03040 10/24 X 1 1/4 100] |JNR05024 5/16-18 X 3/4 100
JNR04006 1/4-20 X 3/16 100] |JNR05028 5/16-18 X 7/8 100
JNR04008 1/4-20 X 1/4 100 |JNR05032 5/16-18 X 1 100
JNR04010 1/4-20 X 5/16 100] |JNR05040 5/16-18 X 1 1/4 100
JNR04012 1/4-20 X 3/8 100] |JNR05048 5/16-18 X 1 1/2 50
JNR04012BT 1/4-20 X 3/8 100] |JNR05056 5/16-18 X 1 3/4 50
JNR04014 1/4-20 X 7/16 100 |JNR05064 5/16-18 X 2 50
JNR04016 1/4-20 X 1/2 100] |JNR06008 3/8-16 X 1/4 100
JNR04020 1/4-20 X 5/8 100] |JNR06010 3/8-16 X 5/16 100
JNR04024 1/4-20 X 3/4 100] |JNR06012 3/8-16 X 3/8 100
JNR04028 1/4-20 X 7/8 100 |JNR06012BOX 3/8-16 X 3/8 100
JNR04032 1/4-20 X 1 100] |JNR06014 3/8-16 X 7/16 100
JNR04040 1/4-20 X 1 1/4 100] |JNR06016 3/8-16 X 1/2 100
JNR04048 1/4-20 X 1 1/2 100] |JNR06020 3/8-16 X 5/8 100
JNR04056 1/4-20 X 1 3/4 100 |JNR06024 3/8-16 X 3/4 100
JNR04064 1/4-20 X 2 100] |JNR06028 3/8-16 X 7/8 100
JNR04096 1/4-20 X 3 100] |JNR06032 3/8-16 X 1 100
JNR05006 5/16-18X 3/16 100] |JNR06040 3/8-16 X 1 1/4 100
SOCKET SET SCREW-CUP POINT !_/} JNR06048 3/8-16 X 1 1/2 100
PLAIN FINISH-GLOBAL JNR06056 3/8-16 X 1 3/4 50
(cont.) JNR06064 3/8-16 X 2 50
Part number Description Pack| |JNR06080 3/8-16 X 2 1/2 50
JNR08024BM 1/2-13 X 3/4 250 |JNR07012 7/16-14 X 3/8 100
JNR08028 1/2-13 X 7/8 50| |JNR07014 7/16-14 X 7/16 100
JNR08032 1/2-13 X 1 50] |JNRO7016 7/16-14 X 1/2 100
JNR08040 1/2-13 X 1 1/4 50| |JNR07020 7/16-14 X 5/8 100
JNR08048 1/2-13 X 11/2 50| |JNR07024 7/16-14 X 3/4 100
JNR08056 1/2-13 X 1 3/4 50| |JNRO07028 7/16-14 X 7/8 50
JNR08064 1/2-13 X 2 50| |JNRO07032 7/16-14 X 1 50
JNR08080 1/2-13 X2 1/2 25| |JNR07040 7/16-14 X 1 1/4 50
JNR08096 1/2-13 X 3 25| |JNR07048 7/16-14 X 1 1/2 50
JNR09024 9/16-12 X 3/4 50] |JNR07064 7/16-14 X 2 50
JNR10016 5/8-11 X 1/2 50| |JNR08012 1/2-13 X 3/8 100
JNR10020 5/8-11 X 5/8 50| |JNR08014 1/2-13 X 7/16 100
JNR10024 5/8-11 X 3/4 50 |JNR08016 1/2-13 X 1/2 100
JNR10028 5/8-11 X 7/8 50] |JNR08020 1/2-13 X 5/8 100
JNR10032 5/8-11 X 1 25| |JNR08024 1/2-13 X 3/4 100
JNR10040 5/8-11 X 1 1/4 25| SOCKET SET SCREW-CUP POINT _—'/,/"/
JNR10048 5/8-11 X 1 1/2 25] PLAIN FINISH-GLOBAL

JNR10056 5/8-11 X 1 3/4 25|  (cont.)

JNR10064 5/8-11 X 2 25| |Part number Description Pack
JNR10080 5/8-11 X 2 1/2 25| |JNR16080 1-8 X2 1/2 10
JNR10096 5/8-11 X 3 25| |JNR16096 1-8 X 3 10
JNR12016 3/4-10 X 1/2 50 |JNR21016 12/24 X 1/2 100




JNR12020 3/4-10 X 5/8 50 |JNR22003 2/56 X 3/32 100
JNR12024 3/4-10 X 3/4 50] |UNR22004 2/56 X 1/8 100
JNR12028X 3/4-10 X 7/8 25| |JNR22008 2/56 X 1/4 100
JUNR12032 3/4-10 X 1 25| |UNR22012 2/56 X 3/8 100
JNR12040 3/4-10 X 1 1/4 25| |JNR33003 3/48 X 3/32 100,
JNR12048 3/4-10 X 1 1/2 25| |JNR33006 3/48 X 3/16 100
JNR12056 3/4-10 X 1 3/4 10| |UNR44004 4/40 X 1/8 100
JNR12064 3/4-10 X 2 10| |JNR44006 4/40 X 3/16 100
JNR12080 3/4-10 X 2 1/2 10| |JNR44008 4/40 X 1/4 100
JNR12096 3/4-10 X 3 10| |JNR44010 4/40 X 5/16 100
JUNR12128 3/4-10 X 4 25| |JNR44012 4/40 X 3/8 100
JNR14028 7/8-9 X 7/8 25| |JNR44014 4/40 X 7/16 100
JNR14032 7/8-9 X 1 25| |JNR44016 4/40 X 1/2 100
JNR14040 7/8-9 X 1 1/4 25| |JNR44020 4/40 X 5/8 100
JNR14048 7/8-9 X 11/2 25| |UNR55004 5/40 X 1/8 100
JNR14064 7/8-9 X 2 25| |JNR55006 5/40 X 3/16 100
JNR14080 7/8-9 X 2 1/2 25| |JNR55008 5/40 X 1/4 100
JNR14096 7/8-9 X 3 25| |JNR55010 5/40 X 5/16 100
JNR16032 1-8 X 1 10| |JNR55012 5/40 X 3/8 100
JNR16048 1-8 X 1 1/2 10] |JNR55014 5/40 X 7/16 100
JNR16064 1-8 X 2 10| |JNR55016 5/40 X 1/2 100
SOCKET SET SCREW-CUP POINT !/) JNR55020 5/40 X 5/8 100
PLAIN FINISH-GLOBAL JNR55024 5/40 X 3/4 100
(cont.) JNR66004 6/32 X 1/8 100
Part number Description Pack|] |JNR66006 6/32 X 3/16 100
JNR88020 8/32 X 5/8 100| |JNR66008 6/32 X 1/4 100
JNR88024 8/32 X 3/4 100| |JNR66010 6/32 X 5/16 100
JNR88028 8/32 X 7/8 100 |JNR66012 6/32 X 3/8 100
JNR88032X 8/32 X 1 100 |UNR66014 6/32 X 7/16 100
INR66016 6/32 X 1/2 100
JNR66020 6/32 X 5/8 100
FLAT SOCKET CAP SCREW rd ~ ™, |UNRe6024 6/32 X 3/4 100
PLAIN FINISH-GLOBAL :. ’;_: | JNR66032 6/32 X 1 100
.~  |iNRsg0o4 8/32 X 1/8 100
Part number Description Pack| |JNR88006 8/32 X 3/16 100
JPRS03008 10/32 X 1/4 100 |JNR88008 8/32 X 1/4 100
JPRS03012 10/32 X 3/8 100 |JNR88010 8/32 X 5/16 100
JPRS03016 10/32 X 1/2 100 |JNR88012 8/32 X 3/8 100
JPRS03020 10/32 X 5/8 100| |JNR88014 8/32 X 7/16 100
JPRS03024 10/32 X 3/4 100 |JNR88016 8/32 X 1/2 100
JPRS03028 10/32 X 7/8 100| FLAT SOCKET CAP SCREW ) P
JPRS03032 10/32 X 1 100|  PLAIN FINISH-GLOBAL T [(I [ %)
JPRS03040 10/32 X 1 1/4 100]  (cont.) ) L S,
JPRS03048 10/32 X 11/2 100 Part number Description Pack
JPRS03056 10/32 X 1 3/4 100| |JPRS06040 3/8-24 X 1 1/4 100
JPRS03064 10/32 X 2 100 |JPRS06048 3/8-24 X 1 1/2 100
JPRS04012 1/4-28 X 3/8 100| |JPRS06056 3/8-24 X 1 3/4 50
JPRS04016X 1/4-28 X 1/2 100| |JPRS06064 3/8-24 X 2 50




JPRS04020 1/4-28 X 5/8 100] |JPRS07040 7/16-20 X 1 1/4 50
JPRS04024X 1/4-28 X 3/4 100 |JPRS08024 1/2-20 X 3/4 50
JPRS04032X 1/4-28 X 1 100] |JPRS08032 1/2-20 X 1 50
JPRS04040 1/4-28 X 1 1/4 100] |JPRS08040 1/2-20 X 1 1/4 50
JPRS04048 1/4-28 X 1 1/2 100] |JPRS08048 1/2-20 X 1 1/2 50
JPRS04064 1/4-28 X 2 100 |JPRS08056 1/2-20 X 1 3/4 50
JPRS05012 5/16-24 X 3/8 100 |JPRS08064 1/2-20 X 2 50
JPRS05016 5/16-24 X 1/2 100] |JPRS08112 1/2-20 X 3 1/2 25
JPRS05020 5/16-24 X 5/8 100] |JPRS10032 5/8-18 X 1 25
JPRS05024 5/16-24 X 3/4 100] |JPRS10040 5/8-18 X 1 1/4 25
JPRS05032 5/16-24 X 1 100 |JPRS10064 5/8-18 X 2 25
JPRS05040 5/16-24 X 1 1/4 100] |JPRS12040 3/4-16 X 1 1/4 25
JPRS05048 5/16-24 X 1 1/2 100] |JPRS44008 4/48 X 1/4 100
JPRS05064 5/16-24 X 2 100] |JPRS44012 4/48 X 3/8 100
JPRS05072 5/16-24 X 2 1/4 100 |JPRS44016 4/48 X 1/2 100
JPRS05080 5/16-24 X 2 1/2 100] |JPRS44020 4/48 X 5/8 100
JPRS05096 5/16-24 X 3 100] |JPRS44024 4/48 X 3/4 100
JPRS06020 3/8-24 X 5/8 100] |JPRS44032 4/48 X 1 100
JPRS06024 3/8-24 X 3/4 100 |JPRS66008 6/40 X 1/4 100
JPRS06032X 3/8-24 X 1 100] |JPRS66012 6/40 X 3/8 100
FLAT SOCKET CAP SCREW P - '\\ JPRS66016 6/40 X 1/2 100
PLAIN FINISH-GLOBAL {l_j: ] JPRS66020 6/40 X 5/8 100
(cont.) l\‘\__ . __./ JPRS66024 6/40 X 3/4 100
Part number Description Pack| |JPRS66032 6/40 X 1 100
JPR03064 10/24 X 2 100] |JPRS88008 8/36 X 1/4 100
JPR03080 10/24 X 2 1/2 100] |JPRS88012 8/36 X 3/8 100
JPR04008 1/4-20 X 1/4 100] |JPRS88016 8/36 X 1/2 100
JPR04012 1/4-20 X 3/8 100 |JPRS88020 8/36 X 5/8 100
JPR04016 1/4-20 X 1/2 100 |JPRS88024 8/36 X 3/4 100
JPR04016BM 1/4-20 X 1/2 1| |JPRS88032 8/36 X 1 100
JPR04020 1/4-20 X 5/8 100 |JPR03012 10/24 X 3/8 100
JPR04024 1/4-20 X 3/4 100 |JPRO3016 10/24 X 1/2 100
JPR04032 1/4-20 X 1 100 |JPR03020 10/24 X 5/8 100
JPR04040 1/4-20 X 1 1/4 100] |JPR03024 10/24 X 3/4 100
JPR04048 1/4-20 X 1 1/2 100] |JPR03028 10/24 X 7/8 100
JPR04056 1/4-20 X 1 3/4 100 |JPR03032 10/24 X 1 100
JPR04064 1/4-20 X 2 100 |JPR03040 10/24 X 1 1/4 100
JPR04088 1/4-20 X 2 3/4 50 |JPR03048 10/24 X 1 1/2 100
JPR05016 5/16-18 X 1/2 100] |JPR03056 10/24 X 1 3/4 100
JPR05020 5/16-18 X 5/8 100] FLAT SOCKET CAP SCREW P = -\\

JPR05024 5/16-18 X 3/4 100] PLAIN FINISH-GLOBAL | {‘_;‘ :;
JPR05028 5/16-18 X 7/8 100] (cont.) s S

JPR05032 5/16-18 X 1 100] [|Part number Description Pack|
JPR05040 5/16-18 X 1 1/4 100] |JPR07024 7/16-14 X 3/4 50
JPR05048 5/16-18 X 1 1/2 100 |JPR07032 7/16-14 X 1 50
JPR05056 5/16-18 X 1 3/4 100 |JPRO7040 7/16-14 X 1 1/4 50
JPR05064 5/16-18 X 2 100] |JPR07048 7/16-14 X 1 1/2 50
JPR05072 5/16-18 x 2 1/4 100 |JPR07056 7/16-14 X 1 3/4 50




JPR05080 5/16-18 X 2 1/2 100] |JPR07064 7/16-14 X 2 50
JPR05088 5/16-18 X 2 3/4 100 |JPR08024 1/2-13 X 3/4 50
JPR05096 5/16-18 X 3 100] |JPR08032 1/2-13 X 1 50
JPR05112 5/16-18 X 3 1/2 50| |JPR08040 1/2-13 X1 1/4 50
JPR06016 3/8-16 X 1/2 100] |JPR08048 1/2-13 X 1 1/2 50
JPR06020 3/8-16 X 5/8 100 |JPRO8056 1/2-13 X 1 3/4 50
JPR06024 3/8-16 X 3/4 100 |JPR08064 1/2-13 X 2 50
JPR06032 3/8-16 X 1 100] |JPR08072 1/2-13 X 2 1/4 50
JPR06040 3/8-16 X 1 1/4 100] |JPR08080 1/2-13 X 2 1/2 25
JPR06048 3/8-16 X 1 1/2 100 |JPR08088 1/2-13 X 2 3/4 25
JPR06056 3/8-16 X 1 3/4 50| |JPR08096 1/2-13 X 3 25
JPR06064 3/8-16 X 2 50 |JPR08112 1/2-13 X3 1/2 25
JPR06072 3/8-16 X 2 1/4 50 |JPR08128 1/2-13 X 4 25
JPR06080 3/8-16 X 2 1/2 50| |JPR08256 1/2-13 X 8 25
JPR06088 3/8-16 X 2 3/4 50| |JPR10032 5/8-11 X 1 25
JPR06096 3/8-16 X 3 50 |JPR10040 5/8-11 X 1 1/4 25
JPR06112 3/8-16 X 3 1/2 50| |JPR10048 5/8-11 X 11/2 25
JPR06128 3/8-16 X 4 50 |JPR10056 5/8-11 X 1 3/4 25
JPR06192 3/8-16 X 6 25| |JPR10064 5/8-11 X 2 25
FLAT SOCKET CAP SCREW / = 'x\ JPR10072 5/8-11 X 2 1/4 25
PLAIN FINISH-GLOBAL ’;—: ] JPR10080 5/8-11 X 2 1/2 25
(cont.) M e JPR10088X 5/8-11 X 2 3/4 10
Part number Description Pack| |JPR10096 5/8-11 X 3 10
JPR12160X 3/4-10 X 5 10| |PR10112X 5/8-11 X 3 1/2 10
JPR12224 3/4-10 X 7 10] |[JPR10128X 5/8-11 X 4 10
JPR16096 1-8 X 3 10] |[JPR10144X 5/8-11 X 4 1/2 10
JPR16112 1-8 X 31/2 10] |[JPR10160X 5/8-11 X 5 10
JPR16128 1-8 X 4 10] |JPR12040 3/4-10 X 1 1/4 25
JPR16160 1-8 X5 10] |JPR12048 3/4-10 X 1 1/2 25
JPR16192 1-8 X 6 10] [JPR12056 3/4-10 X 1 3/4 25
JPR21012 12/24 X 3/8 100] |JPR12064 3/4-10 X 2 25
JPR21016 12/24 X 1/2 100 |JPR12072 3/4-10 X 2 1/4 25
JPR22006 2/56 X 3/16 100 |JPR12080 3/4-10 X 2 1/2 25
JPR22012 2/56 X 3/8 100] |JPR12096 3/4-10 X 3 25
JPR33006 3/48 X 3/16 100] |JPR12104 3/4-10 X 3 1/4 10
JPR33008 3/48 X 1/4 100 |JPR12112X 3/4-10 X 3 1/2 10
JPR33012 3/48 X 3/8 100 |JPR12128X 3/4-10 X 4 10
JPR33016 3/48 X 1/2 100 |JPR12144X 3/4-10 X 4 1/2 10
JPR44004 4/40 X 1/8 100 BUTTON SOCKET CAP SCREW

JPR44006 4/40 X 3/16 100] PLAIN FINISH-GLOBAL

JPR44008 4/40 X 1/4 100

JPR44012 4/40 x 3/8 100] [|Part number Description Pack|
JPR44016 4/40 X 1/2 100] |ABSS03008 10/32 X 1/4 100
JPR44020 4/40 X 5/8 100] |ABSS03012 10/32 X 3/8 100
JPR44024 4/40 x 3/4 100] |ABSS03016 10/32 X 1/2 100
JPR55008 5/40 x 1/4 100 |ABSS03020 10/32 X 5/8 100
JPR55012 5/40 X 3/8 100] |ABSS03024 10/32 X 3/4 100
JPR55016 5/40 X 1/2 100] |ABSS03028 10/32 X 7/8 100




JPR55020 5/40 X 5/8 100] |ABSS03032 10/32 X 1 100
JPR55024 5/40 X 3/4 100 |ABSS04012 1/4-28 X 3/8 100
JPR66008 6/32 X 1/4 100] |ABSS04016 1/4-28 X 1/2 100
JPR66012 6/32 X 3/8 100] |ABSS04020 1/4-28 X 5/8 100
JPR66016 6/32 X 1/2 100 |ABSS04024 1/4-28 X 3/4 100
JPR66020 6/32 X 5/8 100 |ABSS04032 1/4-28 X 1 100
JPR66024 6/32 X 3/4 100 |ABSS04048 1/4-28 X 1 1/2 100
JPR66032 6/32 X 1 100] |ABSS04072 1/4-28 X 2 1/4 100
JPR66040 6/32 X 1 1/4 100] |ABSS05012 5/16-24 X 3/8 100
JPR88008 8/32 X 1/4 100] |ABSS05016 5/16-24 X 1/2 100
JPR88012 8/32 X 3/8 100 |ABSS05020 5/16-24 X 5/8 100
JPR88016 8/32 X 1/2 100] |ABSS05024 5/16-24 X 3/4 100
JPR88020 8/32 X 5/8 100] |ABSS05032 5/16-24 X 1 100
JPR88024 8/32 X 3/4 100] |ABSS05040 5/16-24 X 1 1/4 100
JPR88032 8/32 X 1 100] |ABSS05064 5/16-24 X 2 100
[ABSS06016 3/8-24 X 1/2 100,
[ABSS06020 3/8-24 X 5/8 100
ABSS06032 3/8-24 X 1 100
BUTTON SOCKET CAP SCREW [ABSS06040 3/8-24 X 1 1/4 100
PLAIN FINISH-GLOBAL [ABSS06048 3/8-24 X 11/2 100
(cont.) [ABSS44008 4/48 X 1/4 100
Part number Description Pack] |ABSS44012 4/48 X 3/8 100
ABSS88032 8/36 X 1 100 |ABSS44016 4/48 X 1/2 100
ABS03008 10/24 X 1/4 100] |ABSS44020 4/48 X 5/8 100
ABS03012 10/24 X 3/8 100] |ABSS44024 4/48 X 3/4 100
ABS03016 10/24 X 1/2 100] |ABSS44032 4/48 X 1 100
ABS03020 10/24 X 5/8 100] |ABSS66008 6/40 X 1/4 100
ABS03024 10/24 X 3/4 100 |ABSS66012 6/40 X 3/8 100
ABS03028 10/24 X 7/8 100] |ABSS66016 6/40 X 1/2 100
ABS03032 10/24 X 1 100] |ABSS66020 6/40 X 5/8 100
ABS03040 10/24 X 1 1/4 100] |ABSS66024 6/40 X 3/4 100
ABS04012 1/4-20 X 3/8 100 |ABSS66032 6/40 X 1 100
ABS04014 1/4-20 X 7/16 100 |ABSS88008 8/36 X 1/4 100
ABS04016 1/4-20 X 1/2 100] |ABSS88012 8/36 X 3/8 100
ABS04020 1/4-20 X 5/8 100] |ABSS88016 8/36 X 1/2 100
ABS04024 1/4-20 X 3/4 100 |ABSS88020 8/36 X 5/8 100
ABS04028 1/4-20 X 7/8 100 |ABSS88024 8/36 X 3/4 100
ABS04032 1/4-20 X 1 100 BUTTON SOCKET CAP SCREW
ABS04040 1/4-20 X 1 1/4 100] PLAIN FINISH-GLOBAL
ABS04048 1/4-20 X 1 1/2 100] (cont.)
ABS05012 5/16-18 X 3/8 100 Part number Description Pack
ABS05016 5/16-18 X 1/2 100 |ABS08080 1/2-13 X 2 1/2 25
ABS05020 5/16-18 X 5/8 100] |ABS10032 5/8-11 X 1 25
ABS05024 5/16-18 X 3/4 100] |ABS10040 5/8-11 X 1 1/4 25
ABS05028 5/16-18 X 7/8 100] |ABS10048 5/8-11 X 11/2 25
ABS05032 5/16-18 X 1 100 |ABS10064 5/8-11 X 2 25
ABS05048 5/16-18 X 1 1/2 100] |ABS10072 5/8-11 X 2 1/4 25
ABS06012 3/8-16 X 3/8 100] |ABS22006 2/56 X 3/16 100




ABS06016 3/8-16 X 1/2 100 |ABS22016 2/56 X 1/2 100
ABS06020 3/8-16 X 5/8 100 |ABS22024 2/56 X 3/4 100
ABS06024 3/8-16 X 3/4 100] |ABS22032 2/56 X 1 100
ABS06028 3/8-16 X 7/8 100] |ABS33008 3/48 X 1/4 100
ABS06032 3/8-16 X 1 100] |ABS33012 3/48 X 3/8 100
ABS06040 3/8-16 X 1 1/4 100 |ABS44008 4/40 X 1/4 100
ABS06048 3/8-16 X 1 1/2 50| |ABS44012 4/40 X 3/8 100
ABS06056 3/8-16 X 1 3/4 50| |ABS44016 4/40 X 1/2 100
ABS06064 3/8-16 X 2 50| |ABS66008 6/32 X 1/4 100
ABS06096 3/8-16 X 3 25| |ABS66012 6/32 X 3/8 100
ABS06112 3/8-16 X 3 1/2 25| |ABS66016 6/32 X 1/2 100
ABS08024 1/2-13 X 3/4 100] |ABS66020 6/32 X 5/8 100
ABS08028 1/2-13 X 7/8 50| |ABS66024 6/32 X 3/4 100
ABS08032 1/2-13 X 1 50| |ABS66028 6/32 X 7/8 100
ABS08040 1/2-13 X 1 1/4 50| |ABS66040 6/32 X 1 1/4 100
ABS08048 1/2-13 X1 1/2 50| |ABS66048 6/32 X 11/2 100
ABS08064 1/2-13 X 2 50| |ABS88008 8/32 X 1/4 100
SOCKET SHOULDER SCREW ABS88012 8/32 X 3/8 100
PLAIN FINISH-GLOBAL [W E] [ABS88016 8/32 X 1/2 100
(cont.) [ABS88020 8/32 X 5/8 100
Part number Description Pack] |ABS88024 8/32 X 3/4 100
CFMO04056 1/4 X 1 3/4 10/24THD 25| |ABS88028 8/32 X 7/8 100
CFM04064 1/4 X 2 10/24THD 25| |ABS88032 8/32 X 1 100
CFM04072 1/4X2 1/4 10/24THD 25

CFM04080 1/4X2 1/2 10/24THD 25

CFMO05012 5/16 X 3/8 1/4-20THD 25| SOCKET SHOULDER SCREW

CFM05012C 5/16 X 3/8 100] PLAIN FINISH-GLOBAL [m E
CFM05016 5/16X1/2 1/4-20THD 25

CFM05020 5/16X5/8 1/4-20 THD 25| Part number Description Pack
CFM05024 5/16X3/4 1/4-20 THD 25| |CFM04012 1/4 X 3/8 10/24THD 25
CFMO05032 5/16X1 1/4-20 THD 25| |CFM04016 1/4 X 1/2 10/24THD 25
CFM05040 5/16X1 1/4 1/4-20THD 25| |CFM04020 1/4 X 5/8 10/24THD 25
CFM05048 5/16X1 1/2 1/4-20THD 25| |CFM04024 1/4 X 3/4 10/24THD 25
CFM05056 5/16X1 3/4 1/4-20THD 25| |CFM04032 1/4 X 1 10/24THD 25
CFM05064 5/16X2 1/4-20 THD 25| |CFM04040 1/4 X 1 1/4 10/24THD 25
CFM05072 5/16X2 1/4 1/4-20THD 25| |CFM04048 1/4 X 1 1/2 10/24THD 25
CFM05096 5/16X3 1/4-20 THD 25| SOCKET SHOULDER SCREW

CFM06012 3/8X3/8 5/16-18 THD 25| PLAIN FINISH-GLOBAL [m E
CFMO06016 3/8X1/2 5/16-18 THD 25| (cont.)

CFM06020 3/8X5/8 5/16-18 THD 25| Part number Description Pack
CFM06024 3/8X3/4 5/16-18 THD 25| |CFM08056 1/2X1 3/4 3/8-16THD 25
CFM06032 3/8X1 5/16-18 THD 25| |CFM08064 1/2 X 2 3/8-16 THD 25
CFM06040 3/8X1 1/4 5/16-18THD 25| |CFM08072 1/2X2 1/4 3/8-16THD 25
CFM06048 3/8X1 1/2 5/16-18THD 25| |CFM08080 1/2X2 1/2 3/8-16THD 25
CFMO06056 3/8X1 3/4 5/16-18THD 25| |CFM08088 1/2X2 3/4 3/8-16THD 25
CFM06064 3/8X2 5/16-18 THD 25| |CFM08096 1/2 X 3 3/8-16 THD 25
CFMO06072 3/8X2 1/4 5/16-18THD 25| |CFM08104 1/2X3 1/4 3/8-16THD 25
CFMO06080 3/8X2 1/2 5/16-18THD 25| |CFM08112 1/2X3 1/2 3/8-16THD 25




CFM06088 3/8X2 3/4 5/16-18THD 25| |CFM08120 1/2X3 3/4 3/8-16THD 25
CFM06096 3/8X3 5/16-18 THD 25| |CFMO08128 1/2 X4 3/8-16 THD 25|
CFMO06104 3/8X3 1/4 5/16-18THD 25| |CFM08136 1/2X4 1/4 3/8-16THD 10
CFM06112 3/8X3 1/2 5/16-18 THD 25| |CFM08144 1/2X4 1/2 3/8-16THD 10
CFMO06120 3/8X3 3/4 5/16-18THD 25| |CFM08152 1/2X4 3/4 3/8-16THD 10
CFM06128 3/8X4 5/16-18 THD 25| |CFM08160 1/2 X5 3/8-16 THD 10
CFM06144 3/8X4 1/2 5/16-18 THD 25| |CFM10016 5/8 X 1/2 1/2-13THD 25|
CFM08012 1/2 X 3/8 3/8-16THD 25| |CFM10016BM 5/8 X 1/2 1/2-13THD 40
CFM08016 1/2 X 1/2 3/8-16THD 25| |CFM10020 5/8 X 5/8 1/2-13THD 25|
CFM08016Q50 1/2 X 1/2 50] |CFM10024 5/8 X 3/4 1/2-13THD 25
CFM08020 1/2 X 5/8 3/8-16THD 25| |CFM10024BM 5/8 X 3/4 1/2-13THD 40
CFM08020Q50 1/2 X 5/8 50] |CFM10032 5/8 X 1 1/2-13 THD 25
CFM08024 1/2 X 3/4 3/8-16THD 25| |CFM10040 5/8X1 1/4 1/2-13THD 25
CFM08032 1/2 X 1 3/8-16 THD 25| |CFM10048 5/8X1 1/2 1/2-13THD 25|
CFMO08040 1/2X1 1/4 3/8-16THD 25| |CFM10056 5/8X1 3/4 1/2-13THD 25|
CFM08048 1/2X1 1/2 3/8-16THD 25| |CFM10064 5/8 X 2 1/2-13 THD 25|
SOCKET SHOULDER SCREW CFM10072 5/8X2 1/4 1/2-13THD 25|
PLAIN FINISH-GLOBAL M E} CFM10072BM 5/8X2 1/4 1/2-13THD 1
(cont.) CFM10080 5/8X2 1/2 1/2-13THD 25|
Part number Description Pack] |CFM10088 5/8X2 3/4 1/2-13THD 25|
CFM12056 3/4X1 3/4 5/8-11THD 25| |CFM10096 5/8 X 3 1/2-13 THD 25|
CFM12064 3/4 X 2 5/8-11 THD 25| |CFM10104 5/8X3 1/4 1/2-13THD 25|
CFM12072 3/4X2 1/4 5/8-11THD 25| |CFM10112 5/8X3 1/2 1/2-13THD 25|
CFM12080 3/4X2 1/2 5/8-11THD 25| |CFM10120 5/8X3 3/4 1/2-13THD 25|
CFM12088 3/4X2 3/4 5/8-11THD 10] |CFM10128 5/8 X4 1/2-13 THD 10
CFM12096 3/4 X3 5/8-11 THD 10] |CFM10136 5/8X4 1/4 1/2-13THD 10
CFM12104 3/4X3 1/4 5/8-11THD 10] |CFM10144 5/8X4 1/2 1/2-13THD 10
CFM12112 3/4X3 1/2 5/8-11THD 10] |CFM10152 5/8X4 3/4 1/2-13THD 10
CFM12120 3/4X3 3/4 5/8-11THD 10] |CFM10160 5/8 X5 1/2-13 THD 10
CFM12128 3/4 X4 5/8-11 THD 10] |CFM10176 5/8X5 1/2 1/2-13THD 10
CFM12136 3/4X4 1/4 5/8-11THD 10] |CFM10192 5/8 X6 1/2-13 THD 10
CFM12144 3/4X4 1/2 5/8-11THD 10] |CFM12024 3/4 X 3/4 5/8-11THD 25|
CFM12160 3/4 X5 5/8-11 THD 10] |CFM12032 3/4 X1 5/8-11 THD 25|
CFM12176 3/4X5 1/2 5/8-11THD 10] |CFM12040 3/4X1 1/4 5/8-11THD 25
CFM12192 3/4 X6 5/8-11 THD 10] |CFM12048 3/4X1 1/2 5/8-11THD 25|
CFM12224 3/4 X7 10

SOCKET CAP SCREW ; N
SOCKET CAP SCREW _ i =\, 12.9DIN 912- PLAIN FINISH MMM [I:g ()
12.9 DIN 912 - PLAIN FINISH mmw I;.{: J} | (cont) - N—

) \‘_,j Part number Description Pack

Part number Description Pack CDC04005 M4-7 X 5 100
CDC02004 M2-.4 X 4 100] |CDC04006 M4-.7 X 6 100
CDC02006 M2-.4 X 6 100] |CDC04008 M4-.7 X 8 100
CDC02010 M2-.4 X 10 100 |CDC04010 M4-.7 X 10 100
CDC02016 M2-.4 X 16 100] |CDCO04012 M4-.7 X 12 100
CDC02020 M2-.4 X 20 100 |CDC04014 M4-.7 X 14 100
CDC25005 M2.5-.45 X 5 100] |CDC04016 M4-.7 X 16 100
CDC25008 M2.5-45 X 8 100] |CDC04018 M4-.7 X 18 100




CDC25010 M2.5-45 X 10 100[ |cpco4o20 [a-7 x 20 100
CDC25016 M2.5-45 X 16 100| [cpcosoz2 Iv4-7 x 22 100
CDC25020 M2.5-45 X 20 100 [cpco4o2s M4-.7 X 25 100
CDC25025 M2.5-45 X 25 100 [cpco4o30 M4-.7 X 30 100
CDC03005 M3-5 X 5 100 [cpco403s M4-.7 X 35 100
CDC03006 M3-.5 X 6 100 [cpcoso4o M4-.7 X 40 100
CDC03008 M3-.5 X 8 100 [cpcososs M4-.7 X 45 100
CDC03010 M3-.5 X 10 100 [cpco4os0 M4-.7 X 50 100
CDC03012 M3-.5 X 12 100 [cpcosooe M5-.8 X 6 100
CDC03014 M3-.5 X 14 100] [cpcosoos M5-.8 X 8 100
CDC03016 M3-.5 X 16 100 [cpcosoto M5-.8 X 10 100
CDC03018 M3-.5 X 18 100 [cpcoso12 M5-.8 X 12 100
CDC03020 M3-.5 X 20 100 [cpcosote M5-.8 X 16 100
CDC03022 M3-.5 X 22 100] [cpcosots M5-.8 X 18 100
CDC03025 M3-.5 X 25 100 [cpcosozo M5-.8 X 20 100
CDC03030 M3-.5 X 30 100 [cpcosoz2 MS5-.8 X 22 100
CDC03035 M3-.5 X 35 100 [cDcosozs M5-.8 X 25 100
CDC03040 -5 x 40 100 [cpcosozo M5-.8 X 30 100
CDC35008 Iv3s5-6xs8 100[ |cDcos03s M5-.8 X 35 100
SOCKET CAP SCREW . i N |cDcos040 M5-.8 X 40 100
12,9 DIN 912 - PLAIN FINISH [l L | \\ ) |cpcososs M5-.8 X 45 100
(cont.) ) ~—" Icpcoso50 M5-.8 X 50 100
Part number Description Pack CDC05055 M5-.8 X 55 100
CDC06045 M6-1.0 X 45 100 [cpcososo M5-.8 X 60 100
CDC06050 M6-1.0 X 50 100[ |cDcos06s M5-.8 X 65 100
CDC06055 M6-1.0 X 55 100 [cpcosozo M5-.8 X 70 100
CDC06060 M6-1.0 X 60 100 [cpcoso7s M5-.8 X 75 100
CDC06065 M6-1.0 X 65 50/ |cpcoso90 M5-.8 X 90 100
CDC06070 M6-1.0 X 70 s50[ [cpcostoo M5-.8 X 100 100
CDC06075 M6-1.0 X 75 50| |cpcoso20 M6-1.0 X 20 100
CDC06080 M6-1.0 X 80 50| |cpcoso22 M6-1.0 X 22 100
CDC06085 M6-1.0 X 85 50[ [cpcosozs M6-1.0 X 25 100
CDC06090 M6-1.0 X 90 s0[ |cpcososo M6-1.0 X 30 100
CDC06100 M6-1.0 X 100 50| |cpcososs M6-1.0 X 35 100
CDC06110 M6-1.0 X 110 50| |cpcoso40 M6-1.0 X 40 100
CDC06120 M6-1.0 X 120 50 SOCKET CAP SCREW . SN
CDC06130 M6-1.0 X 130 50| 12.9 DIN 912 - PLAIN FINISH mmqmmm [I:% )
CDC06150 M6-1.0 X 150 50| (cont) i =
CDC08010 M8-1.25 X 10 100] [|Part number Description Pack

CDC08012 M8-1.25 X 12 100 [cpc10025 M10-1.5 X 25 100
CDC08016 M8-1.25 X 16 100] [cpc1o030 M10-1.5 X 30 50
CDC08018 M8-1.25 X 18 100| [cpc1003s M10-1.5 X 35 50
CDC08020 M8-1.25 X 20 100 [cpc1o040 M10-1.5 X 40 50
CDC08022 M8-1.25 X 22 100] [cDc10045 M10-1.5 X 45 50
CDC08025 M8-1.25 X 25 100 [cpc1o0s0 M10-1.5 X 50 50
CDC08030 M8-1.25 X 30 s0[ |cpc1o055 M10-1.5 X 55 50
CDC08035 M8-1.25 X 35 100 [cpc1o060 M10-1.5 X 60 50
CDC08040 M8-1.25 X 40 100] [cpc10065 M10-1.5 X 65 50




CDC08045 M8-1.25 X 45 100[ |cpc1o070 [10-1.5 x 70 50
CDC08050 M8-1.25 X 50 s0[ |cpc1oo7s Iv10-1.5x 75 25
CDC08055 M8-1.25 X 55 50| [cpc1o080 M10-1.5 X 80 25
CDC08060 M8-1.25 X 60 50| [cpc1ooss M10-1.5 X 85 25
CDC08065 M8-1.25 X 65 s0| |cpcio090 M10-1.5 X 90 25
CDC08070 M8-1.25 X 70 s0[ |cpc1o100 M10-1.5 X 100 25
CDC08075 M8-1.25 X 75 50| [cpcto110 M10-1.5 X 110 25
CDC08080 M8-1.25 X 80 50| [cpcto120 M10-1.5 X 120 25
CDC08090 M8-1.25 X 90 s0[ |coc10130 M10-1.5 X 130 25
CDC08100 M8-1.25 X 100 25| |cpcio1s0 M10-1.5 X 150 25
CDC08110 M8-1.25 X 110 25| |cpc12020 M12-1.75 X 20 50
CDC08120 M8-1.25 X 120 25| |cpc12022 M12-1.75 X 22 50
CDC08170 M8-1.25 X 170 25| |cpc12025 M12-1.75 X 25 50
CDC10012 M10-15 X 12 100| |cpc12030 M12-1.75X 30 50
CDC10016 M10-1.5 X 16 100[ |cpc12035 M12-1.75X 35 50
cDC10018 M10-1.5 X 18 100[ |cpc12040 M12-1.75 X 40 50
CDC10020 M10-1.5 X 20 100[ |cpc12045 M12-1.75X 45 50
CDC10022 [v10-1.5 x 22 100[ |cpc12050 M12-1.75X 50 50
SOCKET CAP SCREW _ =\ |cpc120ss M12-1.75 X 55 50
12.9 DIN 912 - PLAIN FINISH [l L | S ,}' CDC12060 M12-1.75 X 60 50
(cont.) i ~—" |cbc120es M12-1.75 X 65 50
Part number Description Pack CDC12070 M12-1.75X 70 50
CDC14020 M14-2.0 X 20 so| |cpci207s M12-1.75 X 75 25
CDC14025 M14-2.0 X 25 50| [cpc12080 M12-1.75X 80 25
CDC14030 M14-2.0 X 30 50| [cpc1208s M12-1.75 X 85 25
CDC14035X M14-2.0 X 35 50| [cpc12090 M12-1.75 X 90 25
CDC14040 M14-2.0 X 40 25| |cpci2100 M12-1.75 X100 25
CDC14045 M14-2.0 X 45 25| |cpci2110 M12-1.75 X110 25
CDC14050 M14-2.0 X 50 25| |cpci2120 M12-1.75 X120 25
CDC14055 M14-2.0 X 55 25| |cpc12130 M12-1.75 X130 25
CDC14060 M14-2.0 X 60 25| |cpci2140 M12-1.75 X140 25
CDC14065 M14-2.0 X 65 25 |cpc12150 M12-1.75 X150 25
CDC14070X M14-2.0 X 70 25 |cpc12160 [12-1.75 x 160 25
CDC14080 M14-2.0 X 80 25| |cpc12180 [M12-1.75 x 180 25
CDC14090 M14-2.0 X 90 25| SOCKET CAP SCREW \ : N
CDC14100 M14-2.0 X 100 25| 129DINo12-pLANFINISH ] L | ()
CDC14120 M14-2.0 X 120 25 (cont) i —
CDC14130 M14-2.0 X 130 25| |Part number Description Pack

CDC14140 M14-2.0 X 140 25 |cpc20060 M20-2.5 X 60 10
CDC16030 M16-2.0 X 30 25| |cpc20065 M20-2.5 X 65 10
CDC16035 M16-2.0 X 35 25| |cpc20070 M20-2.5 X 70 10
CDC16040 M16-2.0 X 40 25 |cpc20075 M20-2.5 X 75 10
CDC16045 M16-2.0 X 45 25| |cpc20080 M20-2.5 X 80 10
CDC16050 M16-2.0 X 50 25| |cpc20085 M20-2.5 X 85 10
CDC16055 M16-2.0 X 55 25| |cpc20090 M20-2.5 X 90 10
CDC16060 M16-2.0 X 60 25| |cpc20100 M20-2.5 X 100 10
CDC16065 M16-2.0 X 65 25| |cpc20110 M20-2.5 X 110 10
CDC16070 M16-2.0 X 70 25| |cpc20120 M20-2.5 X 120 10




[m20-2.5 x 130

CDC16075 M16-2.0 X 75 25| |cbc20130 10
CDC16080 M16-2.0 X 80 25| |cpc20140 [m20-2.5 x 140 10
CDC16085 M16-2.0 X 85 25 |cbc20150 M20-2.5 X 150 10
CDC16090 M16-2.0 X 90 25| |cDc22045 M22-2.5 X 45 10
CDC16100 M16-2.0 X 100 25| |cDc24045 M24-3.0 X 45 10
CDC16110 M16-2.0 X 110 10| |cpc24050 M24-3.0 X 50 10
CDC16120 M16-2.0 X 120 10| |cpc24055 M24-3.0 X 55 10
CDC16130 M16-2.0 X 130 10| |cpc24060 M24-3.0 X 60 10
CDC16140 M16-2.0 X 140 10| |cpc24065 M24-3.0 X 65 10
CDC16150 M16-2.0 X 150 10| |cpca4070 M24-3.0 X 70 10
CDC16160 M16-2.0 X 160 10| |cpca4075 M24-3.0 X 75 10
CDC18055 M18-2.5 X 55 25| |cDc24080 M24-3.0 X 80 10
CDC20030 M20-2.5 X 30 10| |cpc24090 M24-3.0 X 90 10
CDC20040 M20-2.5 X 40 10| |cpca4100 M24-3.0 X 100 10
CDC20045 M20-2.5 X 45 10| |cpca4110 M24-3.0 X 110 10
CDC20050 M20-2.5 X 50 10| |cpc24120 M24-3.0 X 120 10
CDC20055 M20-2.5 X 55 10| |cpc24130 M24-3.0 X 130 10
FLAT SOCKET CAP SCREW TN CDC24140 M24-3.0 X 140 10
10.9 DIN 7991 - PLAIN FINISH ﬂﬂﬂmﬂfmﬂ[{ L (O] [|cpcaatso M24-3.0 X 150 10
(cont.) ~ CDC24160 M24-3.0 X 160 10
Part number Description Pack CDC24180 M24-3.0 X 180 10
CFC02010 M2-.4 X 10 100] |cDc24200 M24-3.0 X 200 10
CFC02012 M2-.4 X 12 100{ |cDc24220 M24-3.0 X 220 10
CFC02016 M2-.4 X 16 100 |cDc30060 M30-3.5 X 60 10
CFC02020 M2-.4 X 20 100] |cpc30080 M30-3.5 X 80 10
CFC25006 M2.5-.45 X 6 100 |cpc30120 M30-3.5 X 120 5
CFC25010 M2.5-.45 X 10 100

CFC25012 M2.5-.45 X 12 100 ]
CFC25016 M2.5-.45 X 16 100 FLAT SOCKET CAP SCREW ; ' J,_\\.
CFC03006 M3-5 X 6 100|  10.9 DIN 7991 - PLAIN FINISH W L)
CFC03008 M3-5X 8 100 ~—
CFC03010 M3-.5 X 10 100 Part number Description Pack
CFC03012 M3-5 X 12 100| |cFC02006 M2-.4 X 6 100
CFC03016 M3-.5X 16 100] FLAT SOCKET CAP SCREW —
CFC03020 M3-.5 X 20 100  10.9 DIN 7991 - PLAIN FINISH W( (O)
CFC03025 M3-0.5 X 25 100|  (cont.) N
CFC03030 M3-0.5 X 30 100] [Part number Description Pack
CFC04008 M4-7 X 8 100] |cFco6025 M6-1.0 X 25 100
CFC04010 M4-.7 X 10 100| |cFco6030 M6-1.0 X 30 100
CFC04012 M4-7 X 12 100| |cFco6035 M6-1.0 X 35 100
CFC04014 M4-7 X 14 100| |cFC06040 M6-1.0 X 40 100
CFC04016 M4-7 X 16 100] |cFC06045 M6-1.0 X 45 100
CFC04020 M4-.7 X 20 100| |cFC06050 M6-1.0 X 50 50
CFC04025 M4-.7 X 25 100| |cFcoso1o M8-1.25 X 10 100
CFC04030 M4-.7 X 30 100| |cFC08012 M8-1.25 X 12 100
CFC04035 M4-0.7 X 35 100] |cFco8o16 M8-1.25 X 16 100
CFC04040 M4-0.7 X 40 100] |cFC08020 M8-1.25 X 20 100
CFC04050 M4-.7 X 50 100| |cFco8o25 M8-1.25 X 25 100




[ms-1.25 x 30

CFC05008 M5-.8 X 8 100] |CFC08030 100
CFC05010 M5-.8 X 10 100 |CFC08035 |M8-1 25X 35 100
CFC05012 M5-.8 X 12 100] |CFC08040 M8-1.25 X 40 100
CFC05016 M5-.8 X 16 100] |CFC08045 M8-1.25 X 45 100
CFC05020 M5-.8 X 20 100] |CFC08050 M8-1.25 X 50 50
CFC05025 M5-.8 X 25 100 |CFC08060 M8-1.25 X 60 50
CFC05030 M5-.8 X 30 100 |CFC08090 M8-1.25 X 90 50
CFC05035 M5-0.8 X 35 100] |CFC10012 M10-1.5 X 12 100
CFC05040 M5-0.8 X 40 100] |CFC10016 M10-1.5 X 16 100
CFC05050 M5-0.8 X 50 50| |CFC10020 M10-1.5 X 20 100
CFC05060 M5-.8 X 60 50] |CFC10025 M10-1.5 X 25 100
CFC06008 M6-1.0 X 8 100] |CFC10030 M10-1.5 X 30 50
CFC06010 M6-1.0 X 10 100] |CFC10035 M10-1.5 X 35 50
CFC06012 M6-1.0 X 12 100] |CFC10040 M10-1.5 X 40 50
CFC06016 M6-1.0 X 16 100 |CFC10045 M10-1.5 X 45 50
CFC06020 M6-1.0 X 20 100] |CFC10050 M10-1.5 X 50 50
FLAT SOCKET CAP SCREW TN CFC10060 M10-1.5 X 60 50
10.9 DIN 7991 - PLAIN FINISH W[{ (:} )] CFC10070 M10-1.5 X 70 25
(cont.) 7 CFC10080 M10-1.5 X 80 25
Part number Description Pack CFC12020 M12-1.75 X 20 50
CFC16045 M16-2.0 X 45 25| |CFC12025 M12-1.75 X 25 50
CFC16050 M16-2.0 X 50 25| |CFC12030 M12-1.75 X 30 50
CFC16060 M16-2.0 X 60 25| |CFC12035 M12-1.75 X 35 50
CFC16070 M16-2.0 X 70 25| |CFC12040 M12-1.75 X 40 50
CFC16080 M16-2.0 X 80 25| |CFC12045 M12-1.75 X 45 50
CFC12050 M12-1.75 X 50 50
CFC12055 M12-1.75 X 55 50
SOCKET SET SCREW CUP POINT CFC12060 M12-1.75 X 60 50
DIN 916 - PLAIN FINISH CFC12070 M12-1.75 X 70 25
CFC16030 M16-2.0 X 30 25
Part number Description Pack CFC16035 M16-2.0 X 35 25|
CCC02004 M2-4 X 4 100 |CFC16040 M16-2.0 X 40 25
CCC02008 M2-.4 X 8 100| SOCKET SET SCREW CUP POINT
CCC25005 M2.5-.45 X 5 100] DIN 916 - PLAIN FINISH
CCC03003 M3-.5X 3 100] (cont.)
CCC03004 M3-.5 X 4 100] [Part number Description Pack
CCC03005 M3-.5 X 5 100 |CCC05016 M5-.8 X 16 100
CCC03006 M3-.5 X 6 100 |CCC05018X M5-.8 X 18 100
CCC03008 M3-.5X 8 100] |CCC05020 M5-.8 X 20 100
CCC03010 M3-.5 X 10 100] |CCC05025 M5-.8 X 25 100
CCC03012 M3-.5 X 12 100] |CCC05025Q50 M5-.8 X 25 50
CCC03014X M3-.5 X 14 100 |CCC05030 M5-.8 X 30 100
CCC03016 M3-.5 X 16 100] |CCC05035 M5-.8 X 35 100
CCC03020 M3-.5 X 20 100] |CCC05040 M5-.8 X 40 100
CCC04004 M4-.7 X 4 100] |CCC06005 M6-1.0 X 5 100
CCC04005 M4-.7 X 5 100 |CCC06006 M6-1.0 X 6 100
CCC04006 M4-.7 X 6 100] |CCC06008 M6-1.0 X 8 100
CCC04008 M4-.7 X 8 100] |CCC06010 M6-1.0 X 10 100




CCC04010 M4-.7 X 10 100] |CCC06012 |M6-1 .0X12 100
CCC04012 M4-7 X 12 100] |CCC06014X |M6-1 .0X14 100
CCC04014X M4-.7 X 14 100] |CCCO06016 M6-1.0 X 16 100
CCC04016 M4-.7 X 16 100] |CCC06018X M6-1.0 X 18 100
CCC04020 M4-.7 X 20 100] |CCC06020 M6-1.0 X 20 100
CCC04025 M4-.7 X 25 100] |CCC06025 M6-1.0 X 25 100
CCC04030 M4-.7 X 30 100] |CCC06030 M6-1.0 X 30 100
CCC04035 M4-.7 X 35 100] |CCC06035 M6-1.0 X 35 100
CCC04040 M4-.7 X 40 100] |CCC06040 M6-1.0 X 40 100
CCC05005 M5-.8 X 5 100] |CCC06045 M6-1.0 X 45 100
CCC05006 M5-.8 X 6 100] |CCC06050 M6-1.0 X 50 50
CCC05008 M5-.8 X 8 100] |CCC08006 M8-1.25 X 6 100
CCC05010 M5-.8 X 10 100 |CCC08008 M8-1.25 X 8 100
CCC05012 |M5-.8 X 12 100] |cCC08010 M8-1.25 X 10 100
CCC05014X |M5-.8 X 14 100] JCCC08012 M8-1.25 X 12 100
SOCKET SET SCREW CUP POINT CCC08014X M8-1.25 X 14 100
DIN 916 - PLAIN FINISH CCC08016 M8-1.25 X 16 100
(cont.) CCC08020 M8-1.25 X 20 100
Part number Description Pack CCC08025 M8-1.25 X 25 100
CCC10030 M10-1.5 X 30 50| |CCC08030 M8-1.25 X 30 100
CCC10035 M10-1.5 X 35 50] |CCC08035 M8-1.25 X 35 100
CCC10040 M10-1.5 X 40 50] |CCC08045 M8-1.25 X 45 100
CCC10045 M10-1.5 X 45 50] |CCC08050 M8-1.25 X 50 50
CCC10050 M10-1.5 X 50 50] |CCC08060 M8-1.25 X 60 50
CCC10055 M10-1.5 X 55 25| |CCC10010 M10-1.5 X 10 100
CCC10060 M10-1.5 X 60 50] |CCC10012 M10-1.5 X 12 100
CCC12012 M12-1.75 X 12 50] |ccc10014 M10-1.5 X 14 100
CCC12014X M12-1.75 X 14 50| [|CCC10016 M10-1.5 X 16 100
CCC12016 M12-1.75 X 16 50| [|CCC10018X M10-1.5 X 18 100
CCC12018X M12-1.75 X 18 50] |CCC10020 M10-1.5 X 20 100
CCC12020 M12-1.75 X 20 50] |CcCC10025 M10-1.5 X 25 100
CCC12025 M12-1.75 X 25 500 SOCKET SET SCREW CUP POINT

CCC12030 M12-1.75 X 30 50 DIN 916 - PLAIN FINISH

CCC12035 M12-1.75 X 35 50 (cont.)

CCC12040 M12-1.75 X 40 50] |Part number Description Pack
CCC12045 M12-1.75 X 45 25| |CCC20025 M20-2.5 X 25 10
CCC12050 M12-1.75 X 50 25| |CCC20030 M20-2.5 X 30 10
CCC12055 M12-1.75 X 55 25| |CCC20035 M20-2.5 X 35 10
CCC12060 M12-1.75 X 60 25| |CCC20040 M20-2.5 X 40 10
CCC12070 M12-1.75 X 70 25| |CCC20045 M20-2.5 X 45 10
CCC12080 M12-1.75 X 80 25| |CCC20050 M20-2.5 X 50 10
CCC14014X M14-2.0 X 14 25| |CCC20055 M20-2.5 X 55 10
CCC14016X M14-2.0 X 16 25| |CCC20060 M20-2.5 X 60 10
CCC14020X M14-2.0 X 20 25| |CCC20070 M20-2.5 X 70 10
CCC14025X M14-2.0 X 25 25| |CCC20080 M20-2.5 X 80 10
CCC14030X M14-2.0 X 30 25| |CCC24025 M24-3.0 X 25 10
CCC14040X M14-2.0 X 40 25| |CCC24030 M24-3.0 X 30 10
CCC14050X M14-2.0 X 50 25| |CCC24035 M24-3.0 X 35 10




CCC16016 M16-2.0 X 16 25| |CCC24040 |M24-3.0 X 40 10
CCC16018X M16-2.0 X 18 25| |CCC24045 |M24-3.0 X 45 10
CCC16020 M16-2.0 X 20 25| |CCC24050 M24-3.0 X 50 10
CCC16025 M16-2.0 X 25 25| |CCC24055 M24-3.0 X 55 10
CCC16030 M16-2.0 X 30 25| |CCC24060 M24-3.0 X 60 10
CCC16035 M16-2.0 X 35 25| |CCC24070 M24-3.0 X 70 10
CCC16040 M16-2.0 X 40 25| |CCC24080 M24-3.0 X 80 10
CCC16045 M16-2.0 X 45 25|

CCC16050 M16-2.0 X 50 25|

CCC16055 M16-2.0 X 55 251 BUTTON SOCKET CAP SCREW

CCC16060 M16-2.0 X 60 25| 1ISO #7380 - PLAIN FINISH IIl.i.ll||III|||||III|I|||I'I|||||I!.||_|_|i||-|:ll" @
CCC16070 M16-2.0 X 70 10

CCC16080 M16-2.0 X 80 10| |Part number Description Pack
CCC20020 M20-2.5 X 20 10 BMJ02008 M2-.4 X 8 100
BUTTON SOCKET CAP SCREW BMJ02012 M2-.4 X 12 100
ISO #7380 - PLAIN FINISH IIlui-|||ll:-||||I'I||"|I'I||"II!'||.|.|iII-|iI." @ BMJ02016 M2-.4 X 16 100
(cont.) BMJ02020 M2-.4 X 20 100
Part number Description Pack BMJ03006 M3-.5X 6 100
BMJ05016 M5-0.8 X 16 100 BMJ03008 M3-.5X 8 100
BMJ05020 M5-0.8 X 20 100] [BMJO03010 M3-.5 X 10 100
BMJ05025 M5-0.8 X 25 100 BMJ04008 M4-0.7 X 8 100
BMJ05030 M5-0.8 X 30 100 BMJ04010 M4-0.7 X 10 100
BMJ05040 M5-.8 X 40 100 BMJ04012 M4-0.7 X 12 100
BMJ05045 M5-.8 X 45 100 BMJ04016 M4-0.7 X 16 100
BMJ06008 M6-1.0 X 8 100 BMJ04020 M4-.7 X 20 100
BMJ06010 M6-1.0 X 10 100 BMJ04025 M4-7 X 25 100
BMJ06012 M6-1.0 X 12 100 BMJ04035 M4-.7 X 35 100
BMJ06016 M6-1.0 X 16 100 BMJ05008 M5-.8 X 8 100
BMJ06020 M6-1.0 X 20 100 BMJ05010 |M5-O.8 X 10 100
BMJ06025 M6-1.0 X 25 100 BMJ05012 |M5-O.8 X 12 100
BMJ06030 M6-1.0 X 30 100, LOW HEAD SOCKET CAP SCREW ) TN
BMJ06035 M6-1.0 X 35 100, DIN 7984 - PLAIN FINISH il rl:ﬂ ( c\:} '
BMJ06040 M6-1.0 X 40 100 b —
BMJ06050 M6-1.0 X 50 100 [Part number Description Pack
BMJ08010 M8-1.25 X 10 50 CEC04016 M4-7 X 16 100
BMJ08012 M8-1.25 X 12 50 CEC04020 M4-.7 X 20 100
BMJ08016 M8-1.25 X 16 50 CEC05008 M5-.8 X 8 200
BMJ08018 M8-1.25 X 18 100 CEC05010 M5-.8 X 10 200
BMJ08020 M8-1.25 X 20 50 CEC05012 M5-.8 X 12 100
BMJ08025 M8-1.25 X 25 50 CEC05025 M5-.8 X 25 100
BMJ08030 M8-1.25 X 30 50 CEC06010 M6-1.0 X 10 100
BMJ08035 M8-1.25 X 35 50 CEC060107984 M6-1.0 X 10 DIN7984 100
BMJ08040 M8-1.25 X 40 50 CEC06012 M6-1.0 X 12 100
BMJ08045 M8-1.25 X 45 50 CEC06016 M6-1.0 X 16 100
BMJ08050 M8-1.25 X 50 50 CEC06020 M6-1.0 X 20 100
BMJ10012 M10-1.5 X 12 100 CEC06025 M6-1.0 X 25 100
BMJ10016 M10-1.5 X 16 50 CEC06030 M6-1.0 X 30 50
BMJ10020 M10-1.50 X 20 50 CEC06045 M6-1.0 X 45 100




BMJ10025 M10-1.50 X 25 50 |CEC08010 |M8-1 25X 10 50
BMJ10030 M10-1.50 X 30 50| |CEC08012 |M8-1 25X 12 50
BMJ10035 M10-1.50 X 35 50| |CEC08016 M8-1.25 X 16 50
BMJ10040 M10-1.50 X 40 50| |CEC08020 M8-1.25 X 20 50
BMJ10045 M10-1.50 X 45 50| |CEC08025 M8-1.25 X 25 50
BMJ10050 M10-1.50 X 50 50| |CEC08030 M8-1.25 X 30 50
BMJ12035 M12-1.75 X 35 50| |CEC08035 M8-1.25 X 35 25
BMJ12040 M12-1.75 X 40 50| |CEC08040 M8-1.25 X 40 25
CEC08050 M8-1.25 X 50 25
CEC08060 M8-1.25 X 60 25
CEC10016 M10-1.5 X 16 50
CEC10020 M10-1.5 X 20 50
CEC10025 M10-1.5 X 25 50
LOW HEAD SOCKET CAP SCREW ] N CEC10030 M10-1.5 X 30 50
DIN 7984 - PLAIN FINISH FI:H ( ) CEC10035 M10-1.5 X 35 25
(cont.) ' —"  |cec10040 M10-1.5 X 40 25
Part number Description Pack CEC10050 M10-1.5 X 50 25
CEC16050 M16-2.0 X 50 25| |CEC10060 M10-1.5 X 60 25
CEC16060 M16-2.0 X 60 25| |CEC10070 M10-1.5 X 70 50
CEC240607984 M24-3.0 X 60 DN7984 10] |CEC12020 M12-1.75 X 20 50
CEC12025 M12-1.75 X 25 50
CEC12030 M12-1.75 X 30 50
SOCKET SHOULDER SCREW CEC12040 M12-1.75 X 40 50
12.9 ISO #7379 - PLAIN FINISH [m E CEC12050 M12-1.75 X 50 50
CEC12060 M12-1.75 X 60 50
Part number Description Pack CEC16030 M16-2.0 X 30 25
BMK06010 M6 X 10 25| |CEC16035 M16-2.0 X 35 25
BMK06012 M6 X 12 25| |CEC16040 M16-2.0 X 40 25
BMK06016 M6 X 16 25| |CEC16045 M16-2.0 X 45 25
BMK06020 M6 X 20 251 SOCKET SHOULDER SCREW
BMK06025 M6 X 25 25| 12.91SO #7379 - PLAIN FINISH M E
BMK06030 M6 X 30 25|  (cont.)
BMK06040 M6 X 40 25| Part number Description Pack
BMK06050 M6 X 50 25| |BMK12070 M12 X 70 25
BMK08012 M8 X 12 25| |BMK12080 M12 X 80 25
BMK08016 M8 X 16 25| |BMK12090 M12 X 90 25
BMK08020 M8 X 20 25| |BMK12100 M12 X 100 25
BMK08025 M8 X 25 25| |BMK16030 M16 X 30 25
BMK08030 M8 X 30 25| |BMK16040 M16 X 40 25
BMK08040 M8 X 40 25| |BMK16050 M16 X 50 25
BMK08050 M8 X 50 25| |BMK16060 M16 X 60 25
BMK08060 M8 X 60 25| |BMK16070 M16 X 70 25
BMK08070 M8 X 70 25| |BMK16080 M16 X 80 25
BMK10016 M10 X 16 25| |BMK16090 M16 X 90 25
BMK10020 M10 X 20 25| |BMK16100 M16 X 100 25
BMK10025 M10 X 25 25| |BMK16120 M16 X 120 25
BMK10030 M10 X 30 25| |BMK20040 M20 X 40 25
BMK10040 M10 X 40 25| |BMK20050 M20 X 50 25




[m20 x 60

BMK10050 M10 X 50 25| |BMK20060 10
BMK10055 M10 X 55 25 |BMK20070 |M20 X 70 10
BMK10060 M10 X 60 25| |BMK20080 M20 X 80 10
BMK10070 M10 X 70 25| |BMK20090 M20 X 90 10
BMK10080 M10 X 80 25| |BMK20100 M20 X 100 10
BMK12016 M12 X 16 25| |BMK20120 M20 X 120 10
BMK12020 M12 X 20 25
BMK12025 M12 X 25 25
BMK12030 M12 X 30 25
BMK12040 M12 X 40 25
BMK12050 M12 X 50 25
BMK12060 M12 X 60 25




